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Practice Long Response

Fraction test

3 x    5    =

        7

Multiply. Draw a picture or use a number line to show each product.1) 

b)    2 x  1   = 

5     4

2) Divide using a number line or boxes with different colors( State the final answer and reduce)

a)   2 ÷   3  = 

              7

[2]

[1]

[3]

Hint:chocolates in box moving around
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3) Evaluate. (Express answers in lowest terms & Show work)

a)   6 ÷ 5

            7

b)   5   x    2 

      12        7
c)   35

9
x 23

4

d) 
71

5
÷ 27

9

e) 
54

9
x 13

8
f)   9 ÷  6

    14     7

[12]
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Show all work

4) A small cup holds    cups of water. A large water cooler holds a TOTAL of 30 cups of water.  
5

9

a) How many small cups can be filled from the water in the water?

[3]
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5. work out     7   ÷     1

                      12          4

6) Evaluate

a)     5   ÷  1  x 7  +   3  ÷  1

        9       2      9      4      5

(Show work)

[5]

B E DM AS
Need Common 
Denominators


	Page 1
	Page 2
	Page 3
	Page 4

